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‘What do you mean by fundamental and deri

(a)
(b)
(¢)
(d)

(e)
®
(2)
(h)

(a)
(b)

(c)

G

rived units

Prove that Zx(§x5)+§x(5x2)+Cx(ﬁx§)='0'
For what values of a, the vector 4= i —2]+ f and B =20i +0j —4k e
Solve the equation : E'z?x P ;
dx

State Kepler’s law of planetary motion.

Define streamline and turbulent flow of liquid.
What do you mean by conservative force field?
Explain elastic collision and inelastic collision.
questions, taking at least one question from each Group.

Answer any five
Group - A

In the equation x =a bt + cf2, x is in (m) and ¢ in (sec). Obtain unit and dimension
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f(x,p) = — x2sin y + )% coS X. Verify Bxgy 2;;;

Find the values of x for which the function f(x) = 233 — 1_5_x?3+ 36x is maximum a









